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1. (o) vt SR e i 1x5=5
Answer as directed :

() MEFATI FIFETS o AR oF
- SReTRIRAR I SR
T I

( 1 3% o 71 )
The sterile organ present in the
capsule of Marchantia having spiral

thickening and hygroscopic nature
is known as

( Fill in the blank )
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(@) AN QY ITIR SO AR
TR
(=% G orew forar )

The spore-bearing organ of Marsilea
is called prothallus.

( Write True or False )
(i) TPRONITRITMETA ____ )
(A ot oy 7 )

The common name of Equisetum is

( Fill in the blank)
(iv) RS Bon s8R | %AW | BN
TR cotrr a1
(o Tt rfo Serear )
The coralloid roots are found in
Cycas / Pinus / Gnetum.
( Choose the correct answer )
(v) A& BRA Rawe ot Afieenss
9| '
( B 17 eier 391 )
The nutritive tissues are found in
the ovule of gymnosperms.
. ( Express in one word )
(b) 53 G : 3x3=9
Write short notes on : |
(i) I FRG R e RERe
Vegetative reproduction in
bryophytes
po/534 ' - (Continued )
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(3)

(i) FNRYE] T SPEERIP] GFW =S
BRw
Homosporous and heterosporous
pteridophytes

(i) AR TR AR sREFR
General characters of
gymnosperms

2. ©Ee PR B'GwI QIR TR 31w TR
wieod BrEy 6+2=8
Wwith a suitable diagram, describe the
sporophyte of Anthoceros and mention its
significances.

oe]qr/ Or
ARGFTI QTR TR Tfomm foa Wil B w1
75100 WA QYRR e Ry Smy 7411 6+2=8
Draw and label the longitudinal sectional

view of the sporophyte of Polytrichum. Also
mention its spore dispersal mechanism.

3. (o) WETI R? YR AT PR /S
Rfes e Rea 2+6=8
What is rhizophore? Write the different
morphological interpretations of

. rhizophore.

\ %3/ Or
=Rie'e’y 7 YT FeF e
o oiiRfee LB S 2+6=8

What is sporangiophore? Mention the
. anatomical peculiarities of the stem of
Equisetum.
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(4)

() WREIYT SF AAIMITI @ ITR
SR TGS Gorll T | 7

Compare the spore-producing organ. of ’
Ophioglossum and Polypodium.

G/ Or

“2p/oME wPreRE e e
- Ve WA T v T oW P
% 3o T 1 7

“Equisetum is considered as morpho-
logically homosporous but genetically
heterosporous.” Explain with reasons.

4. wre faRet Ry Reaa wiR @ (R o ¥9) -
5%x2=11
Give explanatory notes of the following (any
two) : .
@ TRE T 27 W[ TS WES G
1wt o

Gnetum as the linking bridge between
gymnosperms and angiosperms

(b) BRFrRR WY SRR
The primitive characters of Cycas

(c) I g I

Description of the female cone of
Gnetum ‘

(d) IR e SIS 15
Anatomical structure of Pinus leaf
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